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A Hint: S%IPV"” the ellips*- uvé, | .
5 fm equation of T P 2\\[
ellipse N%° i 169vertlcal” Vert |
2. An or axi hOrizoqtal or v gt #
a. Is its maj dinates of its vertic : il
ind the €0 l 2 x* 2 £(O; £12)
LU L+v2<land—9—+y 1.
scribe the graphs ot S J . Sk
3 Ao, 11 Fy and F2 are fixed points in space, describe the ey S
4. Disch/]s;stIO(g) PFII + Pig =8 and (b) PFy + PF; <8. fpoifltsp | :
such tne i
|
L N ENERo 2
e ' i f its verti :
Sketch each ellipse. F ind the coordmatezs 0 rtices and foc; ;
2
2 X ) 2 5
= 28 ot 3, 2 )
AL ot 16 " 5=
4, 4% + 25y° = 100 5. 9x% + 25y = 225 6. 6250 1 ¢
2 : 2y ~1

: e b
7. Sketch the graph of each inequality: (a) 55 + Yor =1 (b JcT i i\ﬁ 21

Find the domain and range of each function. Then graph the Functio
You may find a graphing calculator helpful. ;

8. y=3V1— 2 9.y=—%\/36\—x2 B!

10. a. On a single set of axes, graph X*+ y2 = | and (%) + y2 =1

b. Give the area of the circle and guess the area of the ellipse

2

Loy, '
L. a. On a single set of axes, graph X+ y2 =1 and x* + <%>2 =1L

b. Gi I
Give the area of the circle and guess the area of the ellipse.

Each ellipse has j
PS€ has its center at the origin. Find an equation of the ellipse.

12. Vertex (7. 0): m .
(7, 0); minor axis 2 unitg long 13. Vertex (0, —9); minor axis 6 wis” .

14. Vertex (0
’ _13 o
19 X2 e X foczus (0’2_5) 15. Vertex (17, 0); focus (8,0
49 T )l 13.%+L= 14 x2 y2 x2 y2 i
8 945 Tqgg =1 15289 T _J —

228 Chapter Sy




" E e ¥ § (&
O 277
[ractof < con gruent to the angle between F\P
t1S

and the ¢
ange” nt for another point P. ANgent. Repeat the
e,(perlm‘:’)perty of the ellipse does part (a) illustrate?

on Refer to the Activity on page 226. W

hat ha

tio PPens to an e);

v estga and F, move lov;drd each other? if F\ and F, coincides T:\pse

(7 i 1 fo C]m() e circular. When Fy = £, the figure is a circle. e ellipse
pec0Mes phS of the given equations on a sin

gle set of axes,
y where the graphs intersect,

Then deter.

2,V3), (-2 ~ '§\}
\-’;1.1‘ \x|—2 -2, —\/’4‘; (2, —\V/3)
what happens to the graph of an equation of an ellipse when x is replaced

by 1 — 59 The graph is shifted 5 units to the right.

5
b, Graph S +y = 1 and (T) + y = 1 on a single set of axes.

2. 4

13, . What happens to the graph of an equation of an ellipse when y 1s replaced

by y + 6’7 The graph IS shlfted 6 units down

Y 2L 0+6)° . F axes.
b. GraphT+-9——1 and = 4 + 5 = 1 on a single set of axes

Sketch each ellipse. Label the center and vertices.
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fu 2y te =] 25. —— —
;

26'()f+7)2+(~yi)2=
9

=1

27. 4(x+ 2+ (y -5 =4

he pill \Y% ete Exer-
J Clou ! it l l to ha ca graphing calculator to compl t
Se 28( ) .

By

YA
" the figure at the right, reCtangle PORS 1s : P 5}
lng Cri ,

x? S
b&d In the elllpSe ; + - =1,  — |
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2 y 5
pse Lo i e = ] 18 rotated about
p) 7
a h
llip.w)id is formed.
[lipsoid shown is

29, When the elli
axes, an €
f the ©

cither of its

a. The volume O
V= 4 —p%a. Interpret this volume if the

circle.
formed by rotating the

ts minor axis and guess

original ellipse is a
b. Sketch the ellipsoid
given ellipse about 1
its volume. % —a2b

Sketch each ellipse. Find the coordinates of its vertices and f
oci.

G=0)% 03 2
30. v S o
25 i 9 =N V. (0’ —3)’ (10, —3), /8 (1, —-3). (9 =1\

G+6?2 (-4

31. 4V e 5 :

12 16 —NRVEE 610 FE6r8)iNF: (—6, 2), (—6

32. S 2 g ’
9(X 3) ot 4(y P 5)2 = 36 V: (3, -—2), (3 "‘8) = (3 L

! ) : ) —O 2 \,

(o))

|

33 2
34 (§+1);4(y+3)2:9\/_(_4_ ' ’
.22 +25y° — 6x — 100y + 84 = 0 3), 2, =3); k. (—1 +3V3 4
(Hint: Complete the squares in_x S g o
i o (2 gl ' - ¢
- ;hl; iOrrg, (x> —6x+ )+25 (y2 _1n4)))) i Eeglgl by rewriting the equaton®
. %\ = — ag Palow
36, 952 + T6t 18x—6y+9=0 V: (-1, 6), (-1, 0); ,~8<4')1 e
— a3 ) ) ) ) & =%, 3+ LV
36 I8 181 by 1 =0 Vi (-3 S

You may find
a graphi
complete Exerciseg37l.)hlng calculator or graphing software help

ful 0
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Y. The result involves two equations- /= o
Ex

ph the ellipse
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